HEATSHIELD FOR 2022+ WRX COLD AIR INTAKE

2023-03-02 PSP-INT-327-1
Thank you for purchasing this PERRIN product for your car! Installation of this product should only be performed by persons experienced with installation of aftermarket performance
parts and proper operation of high performance vehicles. If vehicle needs to be raised off the ground for installation, the installer must use proper jacks, jack-stands and/or a
professional vehicle hoist for safety of the installer and to protect property. If the vehicle is lifted improperly, serious injury or death may occur! Please read through all instructions
before performing any portion of installation. If you have any questions, please contact our tech department prior to starting installation. We can be reached in any of the following
methods:

Email Tech@PERRIN.com
Instant Chat off the main page of www.PERRIN.com
Or simply call our tech team at 503-693-1702

& WARNING: This product can expose you to chemicals including Lead which is known to the State of California to
cause cancer birth defects or other reproductive harm. For more information, go to www.P65Warnings.ca.gov

GENERAL MODIFICATION NOTE
Modifications to any vehicle can change the handling and performance. As with any vehicle extreme care must be used to prevent loss of control or roll-over during sharp turns or
abrupt maneuvers. Always wear seat belts, and drive safely, recognizing that reduced speeds and specialized driving techniques may be required. Failure to drive a vehicle safely may
result in serious injury or death. Do not drive a vehicle unless you are familiar with its unique handling characteristics and are confident of your ability to maintain control under all
driving conditions. Some modifications (and combinations of modifications) are not recommended and may not be permitted in your state or country. Consult the owner’s manual,
service manual, instructions accompanying these products, and local laws before purchasing and installing these modifications. You are responsible for the legality and safety of the
vehicle you modify using these components.

Parts Included with the PERRIN Cold Air Intake Heatshield:

Qrty Part Number Description

1 X-PSP-INT-327-1BK Heatshield for 2022+ WRX Cold Air Intake

1 X-PSP-SUS-402-9BK .360” Tall Spacer

1 X-BLT-M4KHS M4 Short Arm Hex Key

3 X-BLT-M618WF-SS M6 x 18 Fender Washer SS

1 X-BLT-M6X30CS-SS M6 x 30mm Socket Cap Screw SS

2 X-BLT-M6X14CSB-SS M6 X 14mm Button Head Socket Cap Screw SS

m——

_Reipove M6 Bolt =

e



http://www.perrinperformance.com/
https://www.p65warnings.ca.gov/

Installation
1.  Remove (2) plastic fasteners holding air scoop to car by turning 90 degrees with a flat head screwdriver or using panel popper tool. Remove Scoop
from car and retain fasteners as these will be reused.
2. Remove M6 bolt securing auxiliary fuse block to chassis.

“SM61Bolts An’d Washers

et
y ,oo.c.--.uom'“
I,/

‘d .g.om\m\\““'

———— gy

™

— R Y

3. Set PERRIN Heatshield into engine bay and line up holes with holes in chassis.
4.  Secure lower portion of heatshield with M6x14 bolts and washers but leave loose for now.
5.  Install supplied spacer between heatshield and plastic bracket, the loosely thread in the supplied M6x30 bolt and washer.

Bat

6.  Finally tighten all M6 bolts to 8ft-lbs.
Double check that the air filter does NOT touch heatshield, and if it does, loosen brackets securing intake and make any necessary adjustments.
8.  Reinstall air scoop to chassis and secure with OEM plastic fasteners.

N

Questions, Comments and Suggestions Contact: Tech@PERRIN.com
Visit Our Website for Instant Chat Options at www.PERRIN.com
Call Our Tech Team at 503-693-1702



mailto:Tech@PERRINperformance.com
http://www.perrinperformance.com/

